Efficiency vs P,

+0.05, " T
2 : : :
L0045 -----enriereeee R RS RRECEREEEEE
> : : :
2 0.04F----rerrmirrrnee L REEE R R RS RRECEEEEEEE
9] : : :
@.035—----------§ ------------ e ARRECEREEEEE
) : : :
0.03F-----rmrrinmrenneensns L REEE R R RS RRECEEEEEEE
R SR R A A—
0.02E -+ o S
0.015F- -+ poovivrrrrree o S
0.01
0.005F

...............................................

Ratio

‘1(;*1 1 10 prT (Ge\})o3

—=— DQM_mkFit_TTbhase

—— DQM_mkFit5_TT_retrainOldFiles125_v2_prelimWP_epoch4

Z0.09

cy vs

efficie

1t

o
o
N

0.06
0.05]
0.04
0.03
0.02
0.0

................................................

U AR LR LR RN LR LRR RN LR RLRRY AR
—_——
N
.
.
4

yo H**n +++ *ﬁ* ++*‘+* *im“# """"

Efficiency vs ¢

o0.02

T

Ratio




	Contents
	Page 1


